e - el I L il

SECTION - | : :
MATHLMATICS i I

F qR Bl g 10 AL, -cfr\gr‘:é g M. (4 au’
3| g H 15 °d FIRY AT

A hox contains length 10 m, width 6 m and | P ;
hoight 4 m. How many cubes of voume 15 cum | Sdrs 4 Hl.

5 . - =
can accommodetie in the box ? l dqlet fhdd °7 @ o e b 7 s
(A) 12 (8) 10 A g2 _{Bh 0 0 -
(c) 14 (0) 16 ) 14 (D) 16 .

- | . L F .
2 Points (0, 5), {5, 0} and (2, 2) {orm a triangle | 7 'F’R;}ﬁ (0, 5), (5. 0) Ud (2. 2) Al ﬁﬂ\ﬂ

which is . g
{A) Equilaterz| (B} None of these - (A} udTg,
(€) Right angle (D) Isosceles (B) T T P Tel

(© gupr (D) GEEATE

31 {m 2l 18 3 factor of equation ik & fFu oA & foIT (m ?) IV )

(€l 9 (D) & | (c) g (0] 6
4. 3 4 -~
One of the angle of a trianglc is " and tﬁt( & PRt H TE d 8, SNRT P
10 it 10
other one is 567 , then the third angle in radian|  sg* %, a7 ¥RR P07 A T0 QfsT § =rft
15 e .
(A g 1 (B
{A) None of these (B} Gat b e " f;i’f & bk
2 i 120~
A€ T (D)
© o 5 & *
3 4

_,_-1

Ll

whn

In the given diagram 2 POR =90 . Point Ois|5 fau W@ i & POR = 90 °, fa= O,
the centroid of APQR and PQ =5 cm, QR = 12 APQR oI e o dar PQ =5 '\’:TTTTH QR

cm. The value of 0Q is = 12 9 v 0Q &1 WH g
P P Y
b’ 1
[ g \ i
O
\ 9 g @
Q R Q T R
(A), N fthese (B) | ' :
) None of the i em (A) 57 T ®Ig T8 (B) 41 EL:!
3 g
(€) I (o} 2 AT
5 -cm 4 m Mi Sl i ik 41ﬁﬁ
3 3 3 3
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i TI'H_‘ valte f iﬁg-—-‘h
RREER O -.th TLUI
| jE i =4 il £
T A | G ‘\/
: (Al - =) ')
(A] 2 (8} 0 | /‘2 8l 0 1 .
(e (0) T 1 B T ”
(€ 1 (B} Nane of these |~ e 7 "
¥ - 1 g r - . \
- On reduction of notato price by 25% 5 person A B APT 25% HE Wi W Ud e 7
purchase 7 _xg of potato more inT 360 What | 360 1 -1 yiel fors wdear ¢
ti ran ; "' :.L’?l . .4_-1" - E ) ) _H_ i
;;] 1:. tr;ual nrice of ¢ rt;g ?f prol.’n“ : | G{-“Lvﬂ?' AR v 3
L 1e/ke Bl R JAT q4fm (81 T qp/dam
C s -‘J 7 o Pl . - \ : -, ¥ i
(€} $12/kg (D) None of these (€ T 1o D) = ¥ B A
& Ashapkeeper offered a discount of € 32 on the |8 Ta S G | o Held T F 32 274 S
printed price of a watch and ezrned a profit of T T CEABEIR aR ®I 15% ST BT B | i
ns . - 4 5 = s .
15%, if the purchase price of the watch is ¥ 320. Thl BT T ¢ 320 & a6 AfPT T W
If he sell at printed price, what would bs the TG sy : 5
A ;3 a Jrfl-rlt-(j price, what would te U']E_: a3 O By yRreg oy BT 7 i T
rcentage profit . A} == o wrF =5 (B a7 : |
i Y % <hly el Bl 20% —_— it
(A) None of these (B} 20% { 3 B ”“”{D] L8 X >
C} 5oz 30%
€] 25% D) 30% : P e §f
{ ] 5 [u] I } 30;21 {Cl'ﬁ i-.‘ba
== 3T
o R s - - o - ¥ oo 2T
' $11 /07 =5 17 % sin 737 —sinla” b
T}‘[E Ua]de Ui:- o sraong 350 -5 e ",._;T ——:;Eﬁ]— -rﬂT{ g i __';' -%-ﬂ___;
SR LT HERRED" cos 7% +cosld b o
(A3 B 2 CYRNE &y 2 LR
= el - Y JI0E
ro ."—"l i i
3 '3
(C] None of these (0} | (€} g I @l qw (0 l
0. |f cosec 6+ cote=m, then the value of cos¢is|10. TfE cosec s+ cot o= m, @& cos g @l
= qH 2
{A) None of these (8] ] (A} T W o T8 8 i
m — | m -\
m’ +1 m +1
5 D) :
€ 1) B (c) 5 ( :
m +1 m -1 m o+ 1 T —}
- ] m~ +1 | ;= m =
|
' L | o
7 b ¢ xﬁt_g
— 'TT b’::
I i P 'E“ 4‘:.’:J
3 ? ' e
1033420
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" The value of

Nt
e N
(A) 4 (B} 4
(€] 12 (D} ¥
171 the population of 4 ULy Is Inceasing at 1ate of | 1
10% per vear. Al aresent e ity popualation i |
13310. Wha! was the populaton of ¢y 3 years |
earligr ? !
) I
(A} 11,500 (B) Nore of these |
(€} 13,000 (D) 10,000
|
3 In what proportion we should mix the tea of { i3
lS_{J perkg and ¥ 200 per kg to bring the price of [~
mixtLre to ¥ 165 per kg 2 .
(A} 5.7 (B) 7.3
(ch 3:7 (D) Nane of these
14 If the length of 3 perpendicular drawn from the | 14

origit on a line is p and perpendicular is making
an angle a from the x-axis. The equation cf thig |
line is

(Al xsine+ycosa b (B ax+by+p=0 |

(€) X cosa+ysina - p (D) XCOSa+ysina-=p

> The adius of a circle is

in two parts by a chord of 2 cm. The value of the |
angle of larger segment is
(A} 45 ° {B) None of these

() 30° (D) 15 ° ‘

1 Five years earlicr Ram was three times older 1.

than Shyam. The age of Ram will twice the age
of Shyam after 10 years. The present age of Ram |
and Shyam is '
(A) 30 years & 10 years B} 50 years & 20 years

(€) 35 years & 15 years (D) None of these

demanditis di'-;ided@ Uk gd @l 3oy

g A
5 %/7
i R , G0 ¢
& 99 &
(A) 4 (Bl
(€l 12 (D] 8

s el TR @Y SERiE 10% ufa ai &

X/ qe @ o a3 af yd wEw @l

SR e ot oyl gEHer e
13310 & &1 7
{A) 11,500

<)

(B) g ¥ Bl ol
(C) 10,000

3 150 mier fm Ak 7 o200 9fY R gt
T W g # frern o fe

11,000

Pt ®1 9o 7 165 9 feur @ Wil 2
Ay 5 . 7 (B} 7 : 3 E .
Waia CEStE T

el W@ R gafdg @ g e A
THTE P A ofF x-3AG I o B AAET L,
79 T W BT THERe -
W x sin e+ y cos u= D

B) ax + by + p =0

(& x cos a+ ysin a= p

®) x cos «+ y sin a= p

S W®F | 4d 2
T oidt yd S gr o wuel R

g, ol vy & o & oA 2 -
{5 45" (B g A By T e
€ 30° (D) 15°

5 af yd oW &1 sy sy H amg @) 3
TH o Tor 10 of qg Iw @ ang wam
Ay & 2 T BRI Im oud wmm )
e ey @

(&) 30 a¥, 10 7§

(€) 35 q% 15 q9

(Bl 50 a9, 20 a%
@) 578 I ®ig =€)

Page: 4 (033426
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"7 The factors of equation 17 = N
| ; vl lse S e quiang @
Y 'y = q v - i"- | i AE
1 v
BT Y. |
(a) | [ ] | - v =2 - =2
T LI T L L \ ; 1
1 v 3 |
(5] 1 1 |
! g s 4 L T30 s -
[E} | 1 | l M | 1 ] | A . | ! ' * B | 4 ™ -
e i Yo 4-_' 1"_1“% i ) n
L 3 3 -
{9/ ' l | l ~ 1 | ]' B
() 1 ! l = v= 42 Sl il |
! ] ™ | i 7 I | 2 - | | |
kB W RS W ' A 1 !
3 B 3
(D) l I[ { I M i . J oA
(D) | l - ; | | \ | LA S g X & |
- | = L

18 If points (1, 2), (x, - 1) and (4, 5) are collinear, | 18. gfe fg=< (1, 2), {4 -1 Uqd (4, 5) WEy g

then the value of x is dql x-H A9 ©
(A) -1 (B} -2 (A} (B) o
(€) 2 {D) 1 © - (D) 1

19 |f the average of seven caonsecutive even @Fﬁﬁ T Hee aaaened &1 Ad 62 -
numbers is 62, then the cne fourth of twice of 2 91 Ul AR wEl Wl & UG &

total of first and sixth number is ST T Al 9T ©
(A) 61 {B) 62 1881 (B) 2
(C} None of these (D) 60 -0 T U By @ (D) 60
20 sin (A+BJ.sin{A - B)isequal to @ sin (A + B) . sin (A - B) @ HH €3«
(a) - - () . s g
s~ A +cos™B sin ~A —sm B [t;? i i B e .
sin"A+cos B ~Sin"A—sin”B

{C] None of these (] 5 4

sin~A +CcosA © T W P AE o)

Si-A+Ccos™A

2 The LCM and HCF of polynomial P(x) and |21 d84U< P(x) |4 Qly) & a0 T

Q(x) are  sg(x*+y) and 4(x" —x+1) Mk R S6(x7 +x) 4
mpndtiyely, 1t the  peyem 4 —x+DT LI pry = 28(x 41
Plg =280 DB BT -

. Sx(x —x+1) Yoo | Rl ==r4]) i 6x(x” +x—1)
9 4-:;*(,1’2—,1’-!-1) P Hone ofthese 5 dv(x —x+1) Pl EH W R

103342
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i
- ]

A wire of diameter 10 mm is drawn by multin
the sphere of radius 9 cm. The length of wire

weir [ bie
{A) 38 88 cm (B) 77.76 cm |
(€] 38 88 m [ 213 g A 2 ) |
i
|

Pipe no. 1 car fill the tank in 5 hours and pipe
in 10 hours. Pipe no. 3 can drain the water

o3

F{T\ up ORI Al

By
ag ke 0

&1 fgdrdd 10 GRS ;1

T e =
T Ffqr mar & | Mo @ s 9

) ar # darag el
(Al 3g.88 .0

() 38.88 Al

@) 77.76 LA
(0) 77.76 .

& 5 ge Ao dd] @

J 10 b A R T

g e Ud bl
qar gINT Ad 9

ki PR
; |4 3 @l &Y
Srafs . 5 &l 7 Ho e
snd make empty in 7 hours. If gll the three AR A <P A 2
i - S
. - _ F of @Al ST ’
pipes are open all together then the time AHAT & | gfy @l ':_*_;f t-‘““ﬁ zﬂm : il
reguired for filling the tank complately would be a1 & @l e H AT fﬂuﬂq__\?
(A) 6 haurs (B) 16 haurs v {A) g e (B) 16 < o
(€l 10 hours (D) Mone of these {WD -El—(} {2} _?f-[ﬁ' T{\{ % "[_Eﬁ
e _ .
24 In the group of 240 students, 200 opts fD/U oap faemiera G Tﬂ:ﬁ H fdfﬂ'U ﬁﬁ;ﬁﬁrlglﬁﬁ?‘[\%
history and 90 opts for Geography. If 7077 gen 80 ¥l o ¥ | AE 20 IFEL 1
students do not apt for iistory as well as ¥ [ Fls f?Iﬂ‘?T_ T @1, fopa T
Geography, then how many students opt for| < &g od & ?
both the subjects i.e. History and Geography M {8} 170
DaLRs (€) 40 (0) T § B ARl
(A) 70 (8) 170
{c) 40 {D] None of these
25 A flag pole is fitted in the wall. The angle of |25 €l § o9 T woevs @ [N ud 98
elevation of flag pole ends made by a person ®1 40 W, A TeH b @ AR WS TP
standing on the aother side of 3 40 m wide road | i = O ) ST 11 'ITS] I Eﬁ’TUT
Is 60" and 45° respectively. The length (height)] wHIE  60° Ud  45° T | €9aus Wl WI_&;
of flag pole is (THTE) B
(4) None of these (8} 40(./3 —T]m N = o g A8l (8) -1{](-__;;?1 —ﬂl)m
(C) 30 m (D) 40{:\1 ;1'}111 (€} 30 m (D) ][](3, _._‘x}tn
26 The equation of locus of points whose distance |26 9 fa=gell @1 fd=g 99 &1 Gdfiao [SAS
from x-axis is n times of its cistance from y-axis. ¥-318] 4 'Eg\@l' y-31et o qﬁ’q Bl n -Tﬁ i
(A} x = ny (B) None of these BT
A " (B] ==&t =
(C) y+nx=0 (D} v = nx A x = ny T X BT =
{C}Y'!'HK:D [D]y:n:{
27 The equation of a line parallel tox-axis and |27 x-31& & YAMIR Y& o) x-3& U b N
passing through a distance of b is W T, kil TSI %’
(A} None of these (B) x=b (A) Q‘-_-Iﬁ pay f}J!:‘g ﬂ%ﬁ {M = b
(C) y=x (D) y=b € vy = x Dy =p
/ | 2
—— +=“' = ey
S | © 187
ot B3
b e
_ PRI,
i & Fage-b 103
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25 00 tnp tolal of two numbers s 25 and it
mulliplication is 144, then their difference i
(A) 4 {B) G
(C) /7 (D) 4

9 There are six balls which rings at the interval of

2,4, 6, & 10 and 12 minutes. All the <ix hells

ﬁ\o rung together at 8:00 a.m. Find out the tme |
s .o/ when they will ring egain together
;\J}{” [A] None of these (B} 1:00 p.m
/
(C) 10:00 am (D) 11:00a.m
x
l SRR
. , . [y
It 1% =n1, then the value of ‘ : 5
L0
(A) 3y (B)
J— | — J—-E
L+ m LN,
(€] None of these (D) 1

= Ya
 ale < <jemnat w1 oA 25 T4 S
YUIThel 144 ¥, @1 T el @ FE tus \
441 gl 7 1,}
sy (B} ¢
A7 (D) g5
38 HIZAT Wb e uid: @) 8:00 A9 gl |
/‘Tu T WA 2, 4.8, 8, 0 ud 12 e F
A=NTel OO fhﬂf” AT G fra-T el
ST argq* ey doil 9
(Al 24 3 ®1g TED (B) 400 a9 €19ET
(€) 10:00 97 wrer (D) 4100 g% W
10
£ E- S | A
VAL
{A) 3 (B) £ oo
I % R
5y 17 o

_..,.

(C] 3?!71 T _h_:?"-r £l
fzrz @, AD 99 =T ¥ 997 ABC ©ed

{D} 1

31 In the diagram, AD is the tangent line of the | 3%
Cil’j“l_“fii'":'!r“ld ABC is the secant line. If AB =4 ¢m & &l o | uafg AB = 4 U 997 BC = 5
BC =5 cm, then the length of AD is 1‘;'\ o A_} G .;.TFch‘ 3 iR ?.L}
5 T -, A E e
e o f/ N i (8
: ,c.,{”:_ | | T‘:* - ;
— | ~— \{ / Meste
D
(A 6em (B} 7 cm (&) g i (8) = q"n'ﬁ
{C] 8 cm {D) None of these (€} g IrQ (D) =997 1 BT T
32. The least number by which either on|32 q8 ©E ¥ B9 T, RT9OF BT 19404
multiplying or dividing the numher 19404 will | G T[nﬂ A W & W) g8 D gnT O 99
become complete square s NiiEif
(A] 13 {B) Mone of these {A) 13 '571£T =T 33\@ el
{c11 (D} 7 (€} 11 (D) 7
i 1033420
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_’f-‘: . : = = o
1% The value of vis the given diggram is <* e qoy 1 HIT ‘fml"’\l ,
‘ — 3
i : |
‘,—' rf‘*.
-\_:'\ i
LA A
”ff \ ;’/ \'\
/ N s
A40° \\;\JZU” f/1o“ L2
ST D B C D
(A) 6O (B) 120 A &6C (8] 120
. ST T 45' :_{F
) (D) None of these () go° J ) ol Ty el
= —r  TTI J
The co-ordinztes of angular pont of a tria- ‘i’i'i—‘(pﬁﬂ it ABC Jﬁ ol AB al "‘Iﬁ?:m
ABC are A(Q, 1), B(2, 0) and (-1, -2). Find the gld @9, e “ﬂ” ﬂrf e
cquation of side AB of the triangle.. A0, 1), Bz, 0) Ud C _2)
BNl 2 (B) x + 3y =1 (A x - 2y = 1 fﬁl x + 3y =1
() x+2y=2 D) x+y=2 O o+ 2y =2 D) x +vy =2

The points A, B, C, D on a circle are in such al 35/1;125 qﬁ ”T{ a7 fd=g A B, C D ‘ET{ bl
v @i ABCD @91 ¥

| g ]

AT 2850 il A 2, 1 qif @1 Al ¥

a5
way that they form a sguare ABCD. If the areoa of i TL
circle is 3850 sg.m, than the area of sguare
wauld be
oo
ol
k
‘G‘\x_ | s
B
. - " (A) 4250 a3if 4.
4250 m- 2450 - (C) 2540 a7 1.
(C) _ - (D) MNe¢ i t
2540 ) None of these
35. The value of T:;;ﬂ iR 100)
¥ 100 .. e 5
e TV A6
e DI UH T
a6 (B) None of these (A) 6
_7 2?
(cy 7 {D) P (C) 7
20) 4 20

Page: §

(8] 2450 i FI
(D) g+ I By el

(D]

emrene e i
103342
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aH

40

41.

2. The purchase value of 4 items are equ

+
.

| E fa Wy aia
Lo 1 Y
- wor

[he value of 02y B 0o Ly v I

;: [> % ‘
s !
(A] 2 (B) 0 '
(€) 1 (D) Mane of these |

A car driver covar the first 100 km at a speed of
50 kim/hour and otner 120 km at a speed of 40
km/hour. If he moves with his average speed by |
which he travelled 220 km, then the time
requirad far further travelling of 242 km ES|

(A)
o

] (B) |
hour qu Hour

s

(C) ]

—_—

/ hour
¥

{D) Mone of these

If the median of 59, 82, 65, % x + 7, 72, §5 andEﬂ.ﬁIfé

94 is &9, then the value of X is .
(A} 69 (B) 68 |
€l 67 (D) Nene of these |

Volume of a perpendicular circular cone A s,
thrice the volume of perpendicular circular rone
B, The height of cone B is the thrice of height of
cane A. The ratio of radius of A ta radius of B s
(A) 3:1 (B a3

(€r.2 =1 (D). 23 |

Three non-zere number m, n, pwill ne in
continued proportion, if

(A None of these (2) i .

m” =np

C , (D) :
) n- =mp =1

al to sales

S

| gaTeR WE B

B o, T AT B
111 =11y ST
al ]1 .\‘__
(A) 7 (@ g
(€l (D) T 37 WIg el

Uh  ®R AR Tgel 100 T @ @ 50
[hadeel & aid I ST AT 3o 120
il 40 fBfireer &) aid R Sar € 1 39
TH B 220 AT AEn @ ST eiRTa ard ¥
DT FIRI 242 B W G qm oae dl
9 e T I 2

{A) | e (B ] ode
N )
. 2
€ ] W= (D) g8 U Wy el
|'ll._
2

siFs] 59, 62, 65, X, X * 2. 72, 85
Ud 94 B TRAGI 69 B, A1 x BT A E

{C) g7

EHE

s @9 g JiErd m, n, p [AE AT A

2, afe

T T et B 4
(A oo P T B s

. D) :
() e i I: po=1mn

afe 4 awgel B FE e, 3 Tl b
frpe Tl H AN €l T ST A BT

42,

value of 3 items. The % profitis L 1
(B) ] (Al ) .
[Jﬁl] - I 0o l ] 0. _‘}j" ft-r; 1 l 2
.1.'?.':‘ /Jﬂ.l" 9/(»' ::II 9
4|
i (C) - (D) 1
. 2 . 91% 6O Y 0-—24
66 £ /.ﬂ 1 ] A 3 I ]
N 1
_ ) 103340
o Pape: t
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]
Y COABCDEFR s o cquilaterel hexagon, 1oy each side

is o, then AC s equal to |

n '
/ \ |
i ,
¢ e
%, S SiE
.-'----. 3 f
\ __.-""-.- ff A
et ,__f"l,f{ |
o L ——e
(A} None of these (B} ) '
B =T
2
(€l - {D]} : :
: o ! ] el o
AC = AT
A

Al i _
| ABCDEF 0@

= s = : o
7 '|5_“,1{[:]rﬁj[ M

JHUCHNT &
TAC @l ™IS ©

Wil 5 & | g7t @ AC
i B
ff \\_
_f/ \x_‘
£ \J i
FQ -__f'-'_:-:' .-:'
h, ,.-"'/i. ff- /
" o s
N " sy
A e a + [}
z 2]
s i 3 —
) 51-11\} T d}‘]$ "fE.ﬂ (8) .'..l"l-(‘—. .. . 0
.'_d\
(] a B, . AC—3
A= "
A

4 The area of two similar triangles are 9 sq.m and| .:-*.f;ﬁ ITHEY t’%ﬂlx_rﬁ T aFEWS A q ¢ AR
36 sq.m respectively. If the neisht of one|” - . F3i1
triangle is 24 m, then the height of the other a5 '"-.HT: g |k s ﬁﬁ'l{ﬁ{ k. kqulé 2o s
one |5 - :

AL 1 mR Rrge @) 9nd A
{(A) None of thes B . A, sl 1= .
o e g (&) T X @G (B a8
“ InAACD, £ ABC > 90° and AD is perpendicular | 45 afe AACD H, £ABC > 90° 3R AD J%

to C8, then the value of AC+ 5

{‘j‘u
Jl_f T
B} B C
(A) .4 5
AB-=BC- -2BC.CcD
(B) - .- R
AR 2BC - 2BC-CD
(C)

AB- <BD £2BC-CD

(D) None of these

6 There are 80% male employees in a factory, 20
male employees are metric and rest graduate.
The total number of female cmployees are 600,
out of which 25% are moetric and rest graduate.
The total number of graduate employees in the
factory are

(A) None of these

(C) 2370

(B) 2430
(D) 2730

i I
%f L*r/@? B T 80% THT ST

& CB W, A g & A AN

A x
|
|
|
|
|

\z\

ARSI T

m
D
(A)

"
C

(B] - A 3,
AB- +BC- -2BC-CD

(C)

AB =B ARcan
(0) 57 I Pig e

&
20% Mo 7 v T
GHaNT 259% A
ougIRAl @
fée= e & -

(Al g9 3y B T8 (8) 2430

(€ 2370 (D) 273p

4

NRE & | afy Afgen
d g ﬂqqa‘ del nfgen
600 &l, dl %ol § g

["agc: 1)

10334
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=

| f . : then the  wvalue of

(A) O {B) None of these

(cl 2 (0] 1

The lareest number by which an dividing the l\j_\
numbers 1356, 1868, 2764, the remazinder is 12

1m all cases :

(A) 70 (B) 61

(€) None of these (D) 64

The ends of a triangle are (4, 6), (2, 2) and {0, | +9.

2).The co-ordinate of its centroid is
(A) (2, 1) (B} (2, 3)
{c) (D) (3, 2)

IfA={1,39 10 2
2,3,4,5,6,7,8, 8, 10} then the value of A (B i
(A} {2, 10}

F

(8) {10}

(C] None of these (D) {8, 10}

HLB=1{4,68 10}and C = {1.1¢

S

B) ¢ O w1 98l
(D] +

de cfa_i‘rxwﬁ dg! e, fOR) 1356, 1868 Ud
2764 @l M &1 W ydF gl W 12 8

qt, 7
(A} 70 (8] 68
(€ 595 3 ®1E 4¢f (D) a4

UE e & o4, 8), (20 -2) U4 0, 2)
| Ik e ¥ Pww
(Al (2, 1) (8 (2, 3)

€ (2, 2 D] 43,2

as A= {1, 3 9, 10, 21}, B

10y AR C = {1, 2, 3, 4, 5 8,
i b

10}, @ AN(BNC) F A9 &

(A) {2 10} (8] {10}

T U W qE (D) {8, 10}

= {4, 86 8,
T/

(<)

i’

L

I

i

Page: 1
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SECTION - 1| ! a1 - I
PHYSICS | I GERIEE]
5 F e - o2 3 7 2
1A mg stone s kept in the flooting boat. If the 01 @lofld § ¥l <10 # dgd d$7 YER Wl e
stone 1s drappec n the wate of pond trom the | rfe wer @1 A 5 'ﬁ ST dledld H
boat, the leve of water i7 the pond i ey oo S, Al dATATd Wl Bl il
(A) Decrease (go-dowr) (B Ny ¢hange | (A} <t e omgmm o (B qEl e
(©) Increase (rise up) (D) Nane of theso | \_/[,Q/ﬁfq_*:' ga wmanr (D) ERLIN Pl T
& If a force F can stop the r‘mjuing i}t){i\,.f of trass 1 o2 T ME M —Q.'ﬂ‘ \}T[ L Cﬁa ?‘YT\T F
and F’EQDUW U in a distance s, then the force g7 & BN 5 "ﬁ = q*m? LT ;
r-f'qUH'“[‘I for 5Lt L}'ir‘n— b\_JL‘l,." 0f Lwico 11455, ;Q’.[I”"T Cﬁ E\I a’l ».ﬂ IIQ‘TRﬁ €_‘; CT_‘;LYI }_\"
moving with half velocity in the same distance ST A TET q IJH & ﬂ‘.{‘q AIsTae dd 2
wuould be (Al F I:B.] 9 F
(A F (8) 2 F
| or 2F i 1
«l 2 L | ‘<Dr o
',...r
533 An obect start moving from standstill. If the 53 Ty g faRmTaen U AT JRPT HIAT HYT B
: ; 2 s =
acceleration is 10y -, then the distance | gfe e 10 Hif g, ar 10d ¥HIs H
travelled by the object in 10th second is qus g1 defl gXT €
(A} 250 m 1B) 95 m (A) 250 T, (B) g5 .
(C) 4050 m (D) 5000 m (€l 4050 9. - (P) s000 HI.
54

The time period of seconds pendulum on alst UH T@Ts ofleld B W T U o olldl

= T TR e TWRU B WA g4l @l
planet where gravitation acceleration is of |

g e &1 @ Qe @ sradwT &
gravitational acceleration of earth J 7]
(A) 9 secands |8} l ; (A) 9 AHTS (8] | s
g seeond 97
(€l ] (D) 6 seconds (. ] dFrs D) § THIS
second ¥
_’% - )
|
|
Page: 12 1033
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5%

&b

b

The resultant of two forces Poane 1 makes an ‘ S

angle  of 90" from its |

the  force P_\ and
|
magnitude is equal to magnitude of 1, The |
magnitude of P‘_ is
W e
(€} None of these (D) Zero

There is a difference of 25 =g in the temperature

of two bodies. It's value in celcius scale would

be .
{A) 20 <C (B) 40 :C |
(€ 30 °C {0) None of these

57 A weight aof 150 kg is hanged at distance of 60

53

HH:

60,

cm from one end of 1.5 m long pole. If both the
cnds of pole are rested on the shoulder of twao
person, then the weight lifted by both the
persons are

(A} 100 and 50 kg

(C) 75 kg each

(B) 60 and 90 kg
{D) 30 and 120 kg

Tl Jd D e P, w1 aRop PR 900 WoB

Ao FHT URHEM i): ¥ WEET & T’] -
URHOT T
{ﬂ} I; [B} J:: }_)

i
—

ST W BIg TE (D)

I

% T QRN b oA W ygep B OARN B
TfRPRT | g T o= Bl
A 20°C (8 07
€  3p°C (D) =} J B Al
7. 1.5 1l o] T @ H Ud RN U 60
WAL g8/ W 150 B BT AR ACHUT U1
f | dm ¥ el B o anef & dEl W)
o & | < eyl g™ e Tal MR
BT

12} 100 wd 50 T,
(B) 80 UJ 90 TR,
{© 75 517, gaU®
(D) 30 Td 4120 fow.am,

1 kilowatt-hour is equal to (53-_1' {heildle-guel &1 H §

A} 1.0 HP (B) ; =" (A} 1, (8) | . ol

i Le 3.0 x 107 Joule 10 HP 3.6 % 10°

(€) 3600 Joule (D) None of these (¢ 3600 T ) T A P T
Main scale of a micrascope is divided in the |53 T® F:T'Qﬁ B = A94] B 0.5 T &
parts of 0.5 mm. If 50 parts of Vernier's scale S| e ﬁmﬂ €| 9 "o
match with the 49 parts of main scale, the least | & 50 A HEd A & 49 Hrrﬁ & A
count of its is Rt © | A9 Bl Io9aHi® ©

(A} 0,002 cm (B) 0.001 cm (A} p.002 ¥HT (B) 0.001 <,

(€) 0.05 cm (D) 0.005 cm {€) 9.05 4. {B) 0.005 I

If the force is increase four times and surface |60. Ifd dof @1 AR A1 T Td & STBeA @
area is decreased to half, then the ratio of final agr HROfeEr e, @1 gRem @ 9
pressure to initial pressure would be TR™E T d T 3T 2

(A) 2:1 (B) 1:2 A 9 (B) 1 : 2

(c)1:8 (D) 8: 1 (© 1 : g D) g : 1
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61 In S| systemr Newtor-second is unit of kga Wi end gl § YeAUavs galy ©

(&) Momentum {B) Impulse of farce , (A} gid (B dol @I M
(€} Mamentum & Impuise of farce B (= e ehR ] T Jol @l M
(D) None of these | / (D) T | PIE AT
= An electric motor create a tension of 4500 &2 Wc;ﬁ ' AR TH A 30 R
Newton in a cable on ifting a certain weight and | f! 4500 <1 B TG S8 uﬂl‘ﬁi%} o
wrapped at a rate of 2 m/s. The power of moter w2 HLR B W dued e | ey
3 | s &
(A) 15 kilowatt (B) 225 kilowatt (A) 15 faefldre (B 225 HefldTC
(€} 9000 kilowatt (D) 9 kilowatt (© gooo fhellgie (D) 9 [befldre
T i
83 The pressure measurec by barometer at 0°C is | &3. 0 °C ™ W &IHiey gr "Ml A T
760 mm. The same pressure at 100 °C would be | 760 AL & 1100 °C @9 WX T DT HIA
(A) 760 mm B} 730 mm i
N B
() 780 mm (D) None of these (A} 760 19,41, (8) 730 frHl
(© 780 A 0) g/ T By T
84 Momentum of two bodies are equal, If the mass(ﬁ”] dﬁ&ﬁ & A A g | yfer 3|a"
of hodies are ml M and kinetic energies are GHIA m .m E}T SR IEIGE] wﬁ? '
ki K. respact 5 ' “*“\Wk"g‘ﬁﬂ
-~ respectively, then the ratio k_ wou d be ! k .k 8L <7 3K 1\— -
1 ) |
(A} m, By, (A) m- ®/
my HLks | my K
L a 3
e D, . ~1 = 2m, (e) 2m,
T} T 1
i, Wig m, e

65 The thermal capacity of a body of mass 100 gms |85 afg &7 9K &1 AR 100 WA =T

and specific heat 0.11 caloriefg °C is | fafime I=1 0.1 %Cﬁﬁf'mmc T SIS
() None of these {B) 110 calorie/ ¢ S m 3
(C) 11 calorie (D} 16 calorie/ ¢ A) 591 Q4 15 T8 B} 110 S

(9 41 BN (D) 16 et

66 1t error in measuring the radius of a sphere is |86 Ml & BHowr & "W § Fe 19 ¢ @
1%, then the errar in calculating the volume of 5{12;; SR EEIRRINGIR: @PC' 2

sphere would be (&) 394 (B] 5
(A) 3% (8) 5% — ) 1o
() 7% (D) 1% <
Page: 14 o 1
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70

T

A obrres 10 auElEd T oF O i et e

i fo . :n} | i for 20 seconds o . non- 15 TE camE % v (m e Br 2

o Pt g o B ) : : . 5 (Td 3071 )

ettt Body sty Niere B 0o force | ua a0 @ % R e PR Am

thereafter. ! | e ‘ . ' 2 g L A S Rt R

¢ lmd,f stopped  after 5 seconds . wur e BT Tl A ST Gur 5 JE AT

moving & distance of 50 em. The value of force 50 T T W JoTBEY T o HK';}' 1\-. ;

i'*.f\lt?'-#;tunm : ) SR SOt T  EN L Y d¢]
TR g o

(a) ~_ (B) . BRI ¢

- . i I rl b .
02w 1 (0210 - ! ) 0.2 10 - Bitoe T8

(C) E (D)

3. 11 (C) : (1)

Sl B 3 10

©

If o rigld body s travelling  distance i | ot

i Rvg e oot % ST

proportional 1o the square of fime, then the T’ :
. are of : ‘?n‘*rr?r:w,ﬁ i Foray i
acceleration of this nigid body iy ﬁ'&T ; jiﬁ]“ gy ill
e -y I 1 “f I::I IIIL’ I :I
(A) constant (B} Decreasing (c) 3 e
| 4odg NET '{i I \D} 9=
(€) Increasing (D) Zero |

A studert reacked his schagl by mov ng first 1/ a2 e feeme I Ead; T*rv{ 1 femf g J\rf Gl

LA
km to cast, then 3 km to south and finally 4 km N, [ o3 R Pl BIR TAT 3 A

EG Eeﬂf The direct distance of his schoal from 4 T yBgy bl AN deoi 39+ Lhed

1is hotse 33 . 3 e

i he e s Tddal o | 99 reg @ we 9 e
22 km {B) 8 kin _’%_QT =

y W o A @)/ e
€ 3.1 INIS (D) J10 km : - 8
., (®) g fHE.E

)

|Ih Lne angie between two plane mimor is 60°, |70, fY =7 yoda vl cﬂﬂ &1 DI 60 8,
then the number of images made of an object 1 T?IF}
< L qu" }

citusted in betwsdrithe s | ?{ S% i ¥& awg & wfafawal &
(A} None of these B} 9 | ;o i

e (B} g (Al 95 7 ®g e (8] g
(€] 5 (D) 7 (€] 5 (D] 7
Which is not the unit of energy ? TRl W OHEw 18] S
(A) Megawatt (B} Newton-melre (Al igre BT ey

iy

(C) Kilnwatt-hour (D) Joule (C) fiparare-yjeg {D) B
i"'I"': E? h; T e T o Page: 15 1033426
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i

gl gaAml py Ql m. oS dra # ¢ s

"’ Two bodies of masses Ell] M. at the distance of
I exert a gravitational farce F on each other. The T & 4= I dTAT T‘Tﬁm&m qef F
G, m U, Jh & g 2 uiel G
Fois defined as| = 2 where G is 3 i I= L () fedr Sildf .
I T
constant. The value of G depends upon G D RIE g, G @ A1 R % §
(A} On the unit system (A) #FF dgfd W
(B) Not depends on the unit system and 8) mEFH TEd al GO F d ®
Medium between the masses (bodies! AT ST TR TR
(C] Medium between the masses (bodies] (€ gl & did & WEgd T
' S
(D) On the unit system and Medium between __ iBJ/’ qrEE UGl a9 ;’?EJ’HT"F( & 4 @
fhe masses (bodies) hoth | s oAl W®
73 A motar cycle is moving with an acceleration of | 72. Y HEwEihel @l @30 & HAllg? g | afe
Qi ¢ |f we touch-on a same type of non- R W & e Arevarsiad s—ﬂfﬁ 1143
moving  motorcycle  with  it,  thea  the g G? abg T?“Em (et .
acceleration will be (A) g A B B 2 A
(A) None of these (8) :
2msT (€} 4 %x:: (D) g #Hi/=-
5 . 3 .
() +mosT (C) S ST
74 Two objects are dropped together from the|7. g d¥U ]1|ct}1ﬁ_~§-ftﬂ3?ﬂ A Ub Wi Bl
height h, and .. The ratic of time taken by e o ] “ - .
SR : Y St £ | ST RA W UgEd A o EE)
them to reach the sarth is B I €
; B
(A} h, {B) h, Al b, 1% h
'h h_' i 15 h_\
D i C ¥ ¢
(c) }}: (D) fjhf (c) h- (D) _|h_
11] ..'.ll }.1] h 1il hl
75 The unit of work in CGS is 5. B & HNiw 99
[A) Horse Power (B} Newton-metre {(A) g7 TOigw (B) =rea-fex
() Erg (D) Joule (€} arf \%f” el
P&gﬁ: 16
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50

&1

SECTION = 1I
CHEMISTRY
Rate of diffusion of 7 gas
(A Valency

depends on
(B} Snecific heat

(Ch Atomicity (O} Molecular weight

Potassium Ferrocyanide h g LU 1|a type |
i
of salt |

(A} Double salt (B} Complex salt

(€C) Simple salt (D) Acidic salt

The H'}{‘]mn-‘of a solution is abtained by

dissolving 5.85 g of NaCl in water. The maolarity |
of solution would be

(A} 2 molar (B) 0.5 maolar

(€} 4 molar {D) 1 malar

Twao alpha narticles are emitted
element whose mass numuber is 226 and atomic
number 88. What would be the mass number
and atomic rumber of the element ohsained
after emission ?

(A) 214, 82
(€} 218, 84

(B) 218, 80
(D) 218, 82

1§ the electronic distribution of X is 2, 8, 3 and ¥
s 2, 6, then the formula of
formed is
(A)] XY

the compound

BF Sy

€ X v (B) X

The temperature at which the vapour pressure
of liquid becomes equal to atmospheric
pressure is called \
(&) Critical temperature (B} iMelling point

(€] Boiling point D] Freezing point

fram an |7

- III

WRT 213
Il e & e @ @3 Pk oy @
(A) qrmwm. R B fafdre o 1)
(€] gRureRE Ty (D 3UR 9

O URBrE SRS []R Fe(CN) }m

UolR &l oAdi & 7
(Al fip oo (B} T[HT of ]
(€)= oam Jﬂ{ ATAT AT

100 24" A, R 5.85 U NaCl i

el W HlTEY WW T T, @l AT

BEll

() 2 molar (B 0.
D) 1 molar

5 molar
(€] 4 molar

226 URAV] ¥R GUT 88 YA HH D dicf
s gl W o g & Bead & die
U qed @1 SedHE Rl J9l TR
HA® FT B 2

(Al 214, B2 (B] 218, 80

{BY" 218, 82

(€l 213, 84

| o e ﬂzﬂw A 47 ANe @1 ¥
M] Y (B) VY

£, W F (0

@ XY, X

i_ﬁm—mqquqﬁ[ G TS TTd

Gl ey e s B 13 | i ey B 1108 i recs ik
(AL-H1f=rs T (B) TTTdTT®

(C) ®HagH (D) femis

i

Lo, b e
e
I

i Py T
i

Jill e

l!‘l]
SNl R B
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hd

£

84

&b

BY.

o

n a 5;.3{?r;|'f:'.r, cc_md.flfun following reaction takes fafdne qmalt &y PA=faftar aifk 1T£T;EI GiR
place, v this rf..'cﬁlilltjlr‘l.’:_"[_fuf_:l];i dizenliy | i{"” ~-ﬂi“ JJEH P-{ TG T ]'_;j' B
N f.'.-':ign—a =0 ";L-" I SO = SO S
A) § (R) Nane of these J,e"(} (‘:J () L\'{ﬁ q] -{:1;'.}}3 ﬁ.ﬂ
{ct . a : '
(G5 8 (0} S and (‘.-’:t}[ji}‘ (C) ol (D) § Ud (-;_r_;\lTh
Fhe EIT-(:.HHE[E* HL[I_’H!JL?[' of sulphur 1s 16 and mass | 0 UEET U {JH[”[ HHRE 16 X WH '”I
numober 32, The number of electrons  and 32 & | pe= (:Tff"HT T S r3 £ | A ;-'W
protonsin g9 js "
A | &
(A) 16, 16 (B} 18 18 AT 16 (8) 1g, 18
) 6,
th fvaporation of 2.72 g of saturated <olytic ARt g/ el To7el ok EEOAy [GGEE t\f' 2.72 T i
of a substance, we obtaned 072 g ofl  JqugT I 0.72 ITJT JaRg Wi gar € |
precipitate. The salybi ity of substance wmulf‘l gl Bt (el ]
r\,x
(Bl g
{A) 36 (B) g >
(€} 5 (D) 43
{c) 5 (D) 18
Most probable velocity of a gas is defined as es. TRT T AfTEad WieT 9 el fEa
(A) None of these (B} 3R | uin:Tl 2
v |
e AL < B 15[ IR
&  ART (D) 'E" 3T W
: N-I_ [ M (c] .E (D) ::.'E
WSl Y M
The full name of B.H.C is Be. B.H.(C. I T,Lﬂ GRS
(A} Benzene Hydrogen Carbonate ! (A) s ;;_|:;,¢Q T T
(B) Benzene Hydrochloride ! By T E.|:3gg:dﬂi{[55
(C) Benzene Hexachloride (€] 49N ERTTeTRIES
(D) Benzene Hydroxy Carbonate (D} 4% ErsgiRil ®1de
In a semple of hard water, 0.024 gm por lit of w7 afg welN wid W Uk r{'xi:} 7 0.024 TH
MeSO,and 0.162 g/lit of CallICO | i afer oflex MpSO,do1 0182 WH wRy dfex
dissolved. The hardness of water would be [HLU ) actl € SR 1 B HBRA]
{Givczl:.\hﬂ Wiof MaSO, 120.CallICO, ] -l(}EJ .' E Kl
(A} 120 ppm (B) 20 ppm {Gi\'ut‘; ; I*»Iu]‘»'\’l.(}fﬁigf%'f): = 12('1,(_':1{}-’1'1".'(:]: jiq =1'ﬁ11
(€) 100 ppm {D) 12 ppm (A) 120 ppm B 20 ppm
(€} 100 ppm (P} 12 ppm

Page: 18 0
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ge The electricity requir2d for the precipitatic | s e v o B
o "o preapitation of\# o oy T e | ~amE w FART w
0.01 gm cquivalent of 4 ™ ions would be Y

b ofory fhadl fRega @) wnagaaagr A v

1 (A) 1.0 (B} (0.7 (AN 1.0 | BV'01 |-
i (€} Q011 (D) 10+ €l oot F O 10 F
f © | | _ . |
49 ‘udluchl cquation Is - daanced  among  the s {51 73 @l I udiaRy gdforg & 2
following - (A) . ; h
¢ W ‘ | 0B = 12H " 3N~ 7
e 1 OB - 12H T 3 s ;
g
S

£ e s s ) GBU 6.0 3O
' 6B by k. Sl * ~

.171, (€) ‘J\B( ilii(‘!; Fldl = e 3

&7 S 1A L NI

E ¢ I | SBE & THO-2N0mee
| SBiT 2 TILO - 2Ma0, - -
L | {r]ll - ' - - P
i ) _ . aB)y 2 22 s NinT =
|§ SE3TCL ¢ 20 Y SR
. SBYT S THLO - MnO
l Bi' - THL0- MaO- : |
| ’ o . e
B o _ : '. RAETUOJEE S B AN [ R
_'BzU: -4 =Nl o <
| e _ 2B+ 6H_O+3Nn0"
2B - 6H O =S3dat | - :

[ o A temperature above which a gas cannot|so. gg am fRTed oW 30 i &1 gfag =5
liguefied is calleg ferar s o, dEamET 2
(A) liguefaction temperature (Al Tdieeo amg JBFarEE
(B} Boiling point () f&|i® (D) FT~ds dT
(€] Freezing point (D) Critical temperature

91 An inorganic compound contains Ca = 40%, C = |91 Udh 3(@idfaa Mt @ ufasg w0 9 ¢;

128, O - 48%. The empirical tarmula of this = 40%. C = 12% O = 48% & | << AT
compound is &l “[ﬂT'jqﬁI e &
7 (R B8) . ... U . (Bl
Ca-CO- CaCO Ca, CO, E-taco.,
(€] Ca (0}~ (C) D
Gee CaCO, | CaCO ® caco,
| ;
82. Atomic number of carbon is 6. 1T's group in the |92 'q_?[cf?{ & IRHI] HHE 6 &, 41 Jdd TRl
perindic table is RSN LI
(A) [ (B} 1V (A) 11 (Bl TV

(€ Vi (D) |1 (91 (D) 111

o
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Sh

ay

$8

w9

1. The percentage hy weight of metal avail

T |
In which compound covalent bond exist an El

the !

olowing ? |
(A) Magnesium chloride (},m(_'jq_} |

(B) Sodium ehloride (NaCl)
{€) Calzium Oxide {Ca0)
(D) Ethane {('jﬂ{{.}j

Fquivale m weight of sulnhuric acid is [Atomic

welghtof21. 580 0 16]
(A) 49 (B} 98
(€) 8p {D) 39

The pH value of —____HCi solution is
1000

(B) 7
{D) +5

(A)

Vel w3

5

The oxidation number

acid 11,850, i

(A) 7
(€ G

(B) 5
{D) 4

If radium remaing 1"
kx|

3180 years, ther its half life is

(A} 1650 vears

(€) 1730 years

of its initial guantity in

(B) 1580 years
(D) 1400 years
The PIE‘ETI’OHEF distribution of Mn(25]) is
(A) 2,8, 14,1 (8) 2,8 13,2
(cl 2,8,8,7 (0) 2,810, 5

The farmula of water gas s
Acoen. B o, £,
(c) H.Q (Vapour) 0) (C+ H.O

aole or
the earth is maxirmum for

(A) Sj (B} Fe
(D) O

() Al

of Sulphur in sulphuric | =6

; . L
0 e W wERidNE 9 STR T
25

04 :

{M NIy NS (Mol

(8) wfeam deugs (NaCl)
A7 wiamgg iwnss (Ca0)
i O QT (C,H )

J_”—J— H = 4, S 2. 00 = 15]
Jz:-i/z;g {B) gg

(C) 80 (B) 39

A e f"}-ﬂ"{{_{ T ["JH HT {|TH

] J{_J[_

{ny 5 (B) 5

(© +3 ) +5
P uERs e LSO, ¥ vowe @

AR HoT Tiean &

A 7 {eF 5

g {0 4

-]

afe Weaw 3160 qgf & Y= wifae Tray
|

[is

P R® W G99 Tu -3y ¥
4
(Al 1650 gt \fm/ 1580 dy
(€) 1730 ad (D) 1400 q¢

* Mn(25) B 3dwIfE famamr @

P82, 8, 14, 1 B) 2 8 13 2
S 2 8 8 7 ) 2 8 10 5
ST IR @ IF
(A) CO+H. B co L
(c H.O (quny (b j;:.fv“"}“-)
1 -IGD.W sy Uﬁﬂ\ ;}n:‘_T ‘—n_('ﬁ' ‘?ITIGIT 7

ARITTT UR % S70R s BT 2

A5 B Feo

S 12 e
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